
MATHS

BOOKS - SURA MATHS (TAMIL ENGLISH)

SET LANGUAGE

Exercise 1 1

1. Which of the following are sets? 

The Collection of prime numbers upto 100.

Watch Video Solution

2. Which of the following are sets? 

The Collection of rich people in India.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_11ifwea5Nqgo
https://dl.doubtnut.com/l/_KkVCzLbpXTft


3. Which of the following are sets? 

The Collection of all rivers in India.

Watch Video Solution

4. Which of the following are sets? 

The Collection of good Hockey players.

Watch Video Solution

5. List the set of letters of the following words in Roster form. 

(i) INDIA 

(ii) PARALLELOGRAM 

(iii) MISSISSIPPI 

(iv) CZECHOSLOVAKIA

Watch Video Solution

https://dl.doubtnut.com/l/_KkVCzLbpXTft
https://dl.doubtnut.com/l/_HNa6vF5GvDYm
https://dl.doubtnut.com/l/_uu6YMnaLiQ4z
https://dl.doubtnut.com/l/_kofUJY4gOxJA


6. Consider the following sets A = {0, 3, 5, 8} B = {2, 4, 6, 10} C = {12, 14, 18,

20} 

(a) State whether True or false. 

(i)  


(ii)  


(iii)  


(iv)  


(v)  


(vi)  


(b) Fill in the blanks? 

(i)  ______ 


(ii)  ______ 


(iii) 18 _____ B 

(iv) 4 ____ B

Watch Video Solution

18 ∈ C

6 ∉ A

14 ∉ C

10 ∈ B

5 ∈ B

0 ∈ B

3 ∈

14 ∈

https://dl.doubtnut.com/l/_dX1xxVK4V8wF


7. Represent the following sets in Roster form. 

A = The set of all even natural numbers less than 20.

Watch Video Solution

8. Represent the following sets in Roster form. 

B = 

Watch Video Solution

{y : y = , n ∈ N, n ≤ 5}
1

2n

9. Represent the following sets in Roster form. 

C = {x : x is perfect cube, }

Watch Video Solution

27 < x < 216

10. Represent the following sets in Roster form. 

D = {x : x ∈ Z, − 5 < x ≤ 2}

https://dl.doubtnut.com/l/_pdl7x8H7J7Ev
https://dl.doubtnut.com/l/_YQZH3soLFNzl
https://dl.doubtnut.com/l/_KtQLtzTXxoFf
https://dl.doubtnut.com/l/_Ln31YPEShAbr


Watch Video Solution

11. Represent the following sets in set builder form. 

B = The set of all Cricket players in India who scored double centuries in

One Day Internationals.

Watch Video Solution

12. Represent the following sets in set builder form. 

C = .

Watch Video Solution

{ , , .... }
1

2

2

3

3

4

13. Represent the following sets in set builder form. 

D = The set of all tamil months in a year.

Watch Video Solution

https://dl.doubtnut.com/l/_Ln31YPEShAbr
https://dl.doubtnut.com/l/_qLGKFnec7Oeo
https://dl.doubtnut.com/l/_Kp4aEdwru6Xp
https://dl.doubtnut.com/l/_EpDJNeRiNyub
https://dl.doubtnut.com/l/_DcGBHkHnP4fg


14. Represent the following sets in set builder form. 

E = The set of odd Whole numbers less than 9.

Watch Video Solution

15. Represent The following sets in descriptive form. 

P = {January, June, July}

Watch Video Solution

16. Represent The following sets in descriptive form. 

Q = {7, 11, 13, 17, 19, 23, 29}

Watch Video Solution

17. Represent The following sets in descriptive form. 

R = 

Watch Video Solution

{x : x ∈ N, x < 5}

https://dl.doubtnut.com/l/_DcGBHkHnP4fg
https://dl.doubtnut.com/l/_T1wcgvEQqH0C
https://dl.doubtnut.com/l/_mxhnt7JJxhUe
https://dl.doubtnut.com/l/_YNouXJtX14Y2


18. Represent The following sets in descriptive form. 

S = {x : x is a consonant in English alphabets}

Watch Video Solution

19. Let A = {0, 1, 2, 3, 4, 5}. Insert appropriate symbol  in the

blank spaces. 

0 ______ A

Watch Video Solution

∈ or ∉

20. Let A = {0, 1, 2, 3, 4, 5}. Insert appropriate symbol  in the

blank spaces. 

6 _____ A

Watch Video Solution

∈ or ∉

https://dl.doubtnut.com/l/_YNouXJtX14Y2
https://dl.doubtnut.com/l/_pXAhNQAcLNwV
https://dl.doubtnut.com/l/_vlO2lR2irvfw
https://dl.doubtnut.com/l/_LweKxCIDXJ4Y
https://dl.doubtnut.com/l/_JHvtUr1IGdeX


21. Let A = {0, 1, 2, 3, 4, 5}. Insert appropriate symbol  in the

blank spaces. 

3 ________ A

Watch Video Solution

∈ or ∉

22. Let A = {0, 1, 2, 3, 4, 5}. Insert appropriate symbol  in the

blank spaces. 

4 _______ A

Watch Video Solution

∈ or ∉

23. Let A = {0, 1, 2, 3, 4, 5}. Insert appropriate symbol  in the

blank spaces. 

7 ______ A

Watch Video Solution

∈ or ∉

https://dl.doubtnut.com/l/_JHvtUr1IGdeX
https://dl.doubtnut.com/l/_MtckaeL3QbHu
https://dl.doubtnut.com/l/_WTPsLIAaC5or


24. Write the following in Set-Builder form. 

The set of all positive even numbers.

Watch Video Solution

25. Write the following in Set-Builder form. 

The set of all whole numbers less than 20.

Watch Video Solution

26. Write the following in Set-Builder form. 

The set of all positive integers which are multiple of 3.

Watch Video Solution

27. Write the following in Set-Builder form. 

The set of all odd natural number less than 15.

https://dl.doubtnut.com/l/_JmZHHGWmv3J3
https://dl.doubtnut.com/l/_4BdSGLqIStIt
https://dl.doubtnut.com/l/_ktKaO89SucvH
https://dl.doubtnut.com/l/_dONOdp3SJAYc


Watch Video Solution

28. Write the following in Set-Builder form. 

The set of all letters in the word 'computer'.

Watch Video Solution

29. Write the following sets in Roster form. 

Watch Video Solution

A = {x : x ∈ N, 2 < x < 10}

30. Write the following sets in Roster form. 

Watch Video Solution

B = {x : x ∈ Z, − < x < }
1

2

11

2

https://dl.doubtnut.com/l/_dONOdp3SJAYc
https://dl.doubtnut.com/l/_XiSA1F3rhqWz
https://dl.doubtnut.com/l/_n7nSqHOvylHz
https://dl.doubtnut.com/l/_MewwYvANPccE


Exercise 1 2

31. Write the following sets in Roster form. 

C = {x : x is a prime number and a divisor of 6 }

Watch Video Solution

32. Write the following sets in Roster form. 

Watch Video Solution

x = {x : x = 2n, n ∈ N and n ≤ 5}

33. Write the following sets in Roster form. 

Watch Video Solution

M = {x : x = 2y − 1, y ≤ 5, y ∈ W}

https://dl.doubtnut.com/l/_1nZzKwV3m3B5
https://dl.doubtnut.com/l/_P4efE2HMar6a
https://dl.doubtnut.com/l/_Q4KQrKaetwfP


1. Find the cardinal number of the following sets. 

M = {p, q, r, s, t, u}

Watch Video Solution

2. Find the cardinal number of the following sets. 

P = 

Watch Video Solution

{x : x = 3n + 2, n ∈ W and x < 15}

3. Find the cardinal number of the following sets. 

Q = 

Watch Video Solution

{y : y = , n ∈ N and 2 < n ≤ 5}
4

3n

4. Find the cardinal number of the following sets. 

R = {x : x is an integers, }x ∈ Z and − 5 ≤ x < 5

https://dl.doubtnut.com/l/_GED7zQ7aLeBN
https://dl.doubtnut.com/l/_dBowiu1NmZmT
https://dl.doubtnut.com/l/_1GHJi7RpnmrQ
https://dl.doubtnut.com/l/_NwGUr5RJ9sO0


Watch Video Solution

5. Find the cardinal number of the following sets. 

S = The set of all leap years between 1882 and 1906.

Watch Video Solution

6. Identify the following sets as finite or infinite. 

X = The set of all districts in Tamilnadu.

Watch Video Solution

7. Identify the following sets as finite or infinite. 

Y = The set of all straight lines passing through a point.

Watch Video Solution

https://dl.doubtnut.com/l/_NwGUr5RJ9sO0
https://dl.doubtnut.com/l/_L1MCwQFXCDY6
https://dl.doubtnut.com/l/_2JQm43psWk3W
https://dl.doubtnut.com/l/_zTqPREHFAvms


8. Identify the following sets as finite or infinite. 

A = 

Watch Video Solution

{x : x ∈ Z and x < 5}

9. Identify the following sets as finite or infinite. 

B = 

Watch Video Solution

{x : x2 − 5x + 6 = 0, x ∈ N}

10. Which of the following sets are equivalent or unequal or equal sets? 

A = The set of vowels in the English alphabets. 

B = The set of all leters in the word "VOWEL"

Watch Video Solution

https://dl.doubtnut.com/l/_lUz1Z9bRS0gB
https://dl.doubtnut.com/l/_bDELznQB4o09
https://dl.doubtnut.com/l/_kivE69pYZ8eN


11. Which of the following sets are equivalent or unequal or equal sets? 

C = {2, 3, 4, 5} 

D = 

Watch Video Solution

{x : x ∈ W , 1 < x < 5}

12. Which of the following sets are equivalent or unequal or equal sets? 

E = A = {x : x is a letter in the word "LIFE"} 

F = {F, I, L, E}

Watch Video Solution

13. Which of the following sets are equivalent or unequal or equal sets? 

X = {x : x is a prime number and } 


Y = {x : x is a divisor of 18}

Watch Video Solution

3 < x < 23

https://dl.doubtnut.com/l/_jUJBDnCrM2Lm
https://dl.doubtnut.com/l/_n01Xvj3H8t3e
https://dl.doubtnut.com/l/_U6vPooHVbEjc
https://dl.doubtnut.com/l/_oXenGx3YcM5J


14. Identify the following sets as null set or singleton set. 

A = 

Watch Video Solution

{x : x ∈ N, 1 < x < 2}

15. Identify the following sets as null set or singleton set. 

B = The set of all even natural numbers which are not divisible by 2.

Watch Video Solution

16. Identify the following sets as null set or singleton set. 

C = {0}.

Watch Video Solution

17. Identify the following sets as null set or singleton set. 

D = The set of all triangles having four sides.

Watch Video Solution

https://dl.doubtnut.com/l/_oXenGx3YcM5J
https://dl.doubtnut.com/l/_GCjBwXYXYjrh
https://dl.doubtnut.com/l/_chPv3b1CmC14
https://dl.doubtnut.com/l/_LIXxYpIg5VCG


18. State which pairs of sets are disjoint or overlapping? 

A =  and B = {a,n,f,h,s}

Watch Video Solution

{f, i, a, s}

19. State which pairs of sets are disjoint or overlapping? 

C = {x : x is a prime number, } and D = {x : x is an even prime number}

Watch Video Solution

x > 2

20. State which pairs of sets are disjoint or overlapping? 

E = {x : x is a factor of 24} and F = {x : x is a multiple of 3, }

Watch Video Solution

x < 30

https://dl.doubtnut.com/l/_LIXxYpIg5VCG
https://dl.doubtnut.com/l/_HrKdwJVvLQ8T
https://dl.doubtnut.com/l/_fsR2WQ5qdSxM
https://dl.doubtnut.com/l/_lUP8MoLtJdX4


21. If S = {square, rectangle, circle, rhombus, triangle}, list the elements of

the following subset of S. 

The set of shapes which have 4 equal sides.

Watch Video Solution

22. If S = {square, rectangle, circle, rhombus, triangle}, list the elements of

the following subset of S. 

The set of shapes which have radius.

Watch Video Solution

23. If S = {square, rectangle, circle, rhombus, triangle}, list the elements of

the following subset of S. 

The set of shapes in which the sum of all interior angles is 

Watch Video Solution

180∘

https://dl.doubtnut.com/l/_HUDX1jm6usy2
https://dl.doubtnut.com/l/_kPI1yhHZoILo
https://dl.doubtnut.com/l/_6tNvTr2kOBY7
https://dl.doubtnut.com/l/_wQHggDlzeSxa


24. If S = {square, rectangle, circle, rhombus, triangle}, list the elements of

the following subset of S. 

The set of shapes which have 5 sides.

Watch Video Solution

25. If A = {a,{a,b}}, write all the subsets of A.

Watch Video Solution

26. Write down the power set of the following sets. 

A = {a,b}

Watch Video Solution

27. Write down the power set of the following sets. 

B = {1,2,3}

Watch Video Solution

https://dl.doubtnut.com/l/_wQHggDlzeSxa
https://dl.doubtnut.com/l/_rqthoBOeOUOF
https://dl.doubtnut.com/l/_SqSPhGOQCsUj
https://dl.doubtnut.com/l/_KcZU4p84pAs8


28. Write down the power set of the following sets. 

D = {p,q,r,s}

Watch Video Solution

29. Write down the power set of the following sets. 

E = Ø

Watch Video Solution

30. Find the number of subsets and the number of proper subsets of the

following sets. 

W = {red, blue, yellow}

Watch Video Solution

https://dl.doubtnut.com/l/_KcZU4p84pAs8
https://dl.doubtnut.com/l/_h4TJEC6M3Y1t
https://dl.doubtnut.com/l/_r5logxCtWkvX
https://dl.doubtnut.com/l/_ri6hkq8Fj6zn


31. Find the number of subsets and the number of proper subsets of the

following sets. 

.

Watch Video Solution

X = {x2 : x ∈ N, x2 ≤ 100}

32. If n(A) = 4, find n[P(A)].

Watch Video Solution

33. If n(A) = 0, find n[P(A)].

Watch Video Solution

34. If n[P(A)] = 256, find n(A).

Watch Video Solution

https://dl.doubtnut.com/l/_r6y2VXwDHowk
https://dl.doubtnut.com/l/_CKmF6oL8Phrx
https://dl.doubtnut.com/l/_37SdCCA3ixGF
https://dl.doubtnut.com/l/_xLyVBhIGAlt2
https://dl.doubtnut.com/l/_yTBtcPnnnoED


35. Find the number of subsets and number of proper subsets of a set

.

Watch Video Solution

X = {a, b, c, x, y, z}

36. Find the cardinal number of the following sets. 

A = {x : x is a prime factor of 12}.

Watch Video Solution

37. Find the cardinal number of the following sets. 

.

Watch Video Solution

B = {x : x ∈ W , x ≤ 5}

38. Find the cardinal number of the following sets. 

X = {x : x is an even prime number}.

W h Vid S l i

https://dl.doubtnut.com/l/_yTBtcPnnnoED
https://dl.doubtnut.com/l/_zeMdB0ugp64b
https://dl.doubtnut.com/l/_mOafXWf0wLy7
https://dl.doubtnut.com/l/_cKrgER3TQyi7


Watch Video Solution

39. State whether the following sets are finite or infinite. 

A = {x : x is a multiple of 5, }.

Watch Video Solution

x ∈ N

40. State whether the following sets are finite or infinite. 

B = {0, 1, 2, 3, 4, …..... 75}.

Watch Video Solution

41. State whether the following sets are finite or infinite. 

The set of all positive integers greater than 50.

Watch Video Solution

https://dl.doubtnut.com/l/_cKrgER3TQyi7
https://dl.doubtnut.com/l/_cdPgw6QdBUXB
https://dl.doubtnut.com/l/_6OVJWmiPD09z
https://dl.doubtnut.com/l/_FqiBPw9USWRz


42. Which of the following sets are equal? 

A = {1, 2, 3, 4}, B = {4, 3, 2, 1}

Watch Video Solution

43. Which of the following sets are equal? 

A = {4, 8, 12, 16}, B = {8, 4, 16, 18}

Watch Video Solution

44. Which of the following sets are equal? 

X = {2, 4, 6, 8} 

Y = {x : x is a posiitive even integer and }

Watch Video Solution

0 < x < 10

https://dl.doubtnut.com/l/_Zx58X0vR3MUI
https://dl.doubtnut.com/l/_0YS3iHOM6Cuo
https://dl.doubtnut.com/l/_5vw9Nqaqbu13


Exercise 1 3

45. Write  in each blank to make a true statement. 


{4, 5, 6, 7} __________ {4, 5, 6, 7, 8}

Watch Video Solution

⊆ or ⊆

46. Write  in each blank to make a true statement. 


{a, b, c} ________ {b, e, f, g}

Watch Video Solution

⊆ or ⊆

47. Write down the power set of A = {3, {4, 5}}.

Watch Video Solution

https://dl.doubtnut.com/l/_d33R1m1Ep9FV
https://dl.doubtnut.com/l/_Jrma7RHDuCRD
https://dl.doubtnut.com/l/_HJPSRlw6uU17


1. Using the given venn diagram, write the elements of 

 


(i) A 

(ii) B 

(iii)  


(iv)  


(v) A - B 

(vi) B - A 

(vii) A' 

(viii) B' 

(ix) U

Watch Video Solution

A ∪ B

A ∩ B

https://dl.doubtnut.com/l/_058zOHsnHSFz
https://dl.doubtnut.com/l/_HOG0uVwdTs02


2. Find  for the following sets. 


A = {2, 6, 10, 14} and B = {2, 5, 14, 16}

Watch Video Solution

A ∪ B, A ∩ B, A − B and B − A

3. Find  for the following sets. 


A = {a, b, c, e, u} and B = {a, e, i, o, u}

Watch Video Solution

A ∪ B, A ∩ B, A − B and B − A

4. Find  for the following sets. 


Watch Video Solution

A ∪ B, A ∩ B, A − B and B − A

A = {x : x ∈ N, x ≤ 10} and B = {x : x ∈ W , x < 6}

5. Find  for the following sets. 


A = set of all letters in the word "mathematics" and 

B = Set of all letters in the word "geometry"

A ∪ B, A ∩ B, A − B and B − A

https://dl.doubtnut.com/l/_HOG0uVwdTs02
https://dl.doubtnut.com/l/_2DtkXlYHCKBW
https://dl.doubtnut.com/l/_LC8xqQkP2mdO
https://dl.doubtnut.com/l/_0pKFBWQwGcZH


Watch Video Solution

6. If U = {a, b, c, d, e, f, g, h}, A = {b, d, f, h} and B = {a, d, e, h}, find the

following sets. 

A'

Watch Video Solution

7. If U = {a, b, c, d, e, f, g, h}, A = {b, d, f, h} and B = {a, d, e, h}, find the

following sets. 

B'

Watch Video Solution

8. If U = {a, b, c, d, e, f, g, h}, A = {b, d, f, h} and B = {a, d, e, h}, find the

following sets. 

W t h Vid S l ti

A' ∪ B'

https://dl.doubtnut.com/l/_0pKFBWQwGcZH
https://dl.doubtnut.com/l/_eIsp3witrN81
https://dl.doubtnut.com/l/_imBRUKFEIHql
https://dl.doubtnut.com/l/_p5Bx0MdzyPmS


Watch Video Solution

9. If U = {a, b, c, d, e, f, g, h}, A = {b, d, f, h} and B = {a, d, e, h}, find the

following sets. 

Watch Video Solution

A' ∩ B'

10. If U = {a, b, c, d, e, f, g, h}, A = {b, d, f, h} and B = {a, d, e, h}, find the

following sets. 

Watch Video Solution

(A ∪ B)'

11. If U = {a, b, c, d, e, f, g, h}, A = {b, d, f, h} and B = {a, d, e, h}, find the

following sets. 

Watch Video Solution

(A ∩ B)'

https://dl.doubtnut.com/l/_p5Bx0MdzyPmS
https://dl.doubtnut.com/l/_UQ8dYU7JPCMv
https://dl.doubtnut.com/l/_SgC6NYMOlzia
https://dl.doubtnut.com/l/_04Vv1wYc1uMY


12. If U = {a, b, c, d, e, f, g, h}, A = {b, d, f, h} and B = {a, d, e, h}, find the

following sets. 

(A')'

Watch Video Solution

13. If U = {a, b, c, d, e, f, g, h}, A = {b, d, f, h} and B = {a, d, e, h}, find the

following sets. 

(B')'

Watch Video Solution

14. Let U = {0, 1, 2, 3, 4, 5, 6, 7}, A = {1, 3, 5, 7} and B = {0, 2, 3, 5, 7}, find the

following sets. 

A'

Watch Video Solution

https://dl.doubtnut.com/l/_04Vv1wYc1uMY
https://dl.doubtnut.com/l/_WFxAvPVaB926
https://dl.doubtnut.com/l/_b3xkNU0QsINr
https://dl.doubtnut.com/l/_8Rmq7Z6oWmZA


15. Let U = {0, 1, 2, 3, 4, 5, 6, 7}, A = {1, 3, 5, 7} and B = {0, 2, 3, 5, 7}, find the

following sets. 

B'

Watch Video Solution

16. Let U = {0, 1, 2, 3, 4, 5, 6, 7}, A = {1, 3, 5, 7} and B = {0, 2, 3, 5, 7}, find the

following sets. 

Watch Video Solution

A' ∪ B'

17. Let U = {0, 1, 2, 3, 4, 5, 6, 7}, A = {1, 3, 5, 7} and B = {0, 2, 3, 5, 7}, find the

following sets. 

Watch Video Solution

A' ∩ B'

https://dl.doubtnut.com/l/_us8T8XaURsft
https://dl.doubtnut.com/l/_z7EnPGO1Ad3Q
https://dl.doubtnut.com/l/_nhNKWOggmFrJ
https://dl.doubtnut.com/l/_jE7N8gOyuQ3B


18. Let U = {0, 1, 2, 3, 4, 5, 6, 7}, A = {1, 3, 5, 7} and B = {0, 2, 3, 5, 7}, find the

following sets. 

Watch Video Solution

(A ∪ B)'

19. Let U = {0, 1, 2, 3, 4, 5, 6, 7}, A = {1, 3, 5, 7} and B = {0, 2, 3, 5, 7}, find the

following sets. 

Watch Video Solution

(A ∩ B)'

20. Let U = {0, 1, 2, 3, 4, 5, 6, 7}, A = {1, 3, 5, 7} and B = {0, 2, 3, 5, 7}, find the

following sets. 

(A')'

Watch Video Solution

https://dl.doubtnut.com/l/_jE7N8gOyuQ3B
https://dl.doubtnut.com/l/_LZEM7fJOVm3s
https://dl.doubtnut.com/l/_2oS1J0atXaIN


21. Let U = {0, 1, 2, 3, 4, 5, 6, 7}, A = {1, 3, 5, 7} and B = {0, 2, 3, 5, 7}, find the

following sets. 

(B')'

Watch Video Solution

22. Find the symmetric difference between the following sets. 

P = {2, 3, 5, 7, 11} and Q = {1, 3, 5, 11}

Watch Video Solution

23. Find the symmetric difference between the following sets. 

R = {l, m, n, o, p} and S = {j, l, n, q}

Watch Video Solution

https://dl.doubtnut.com/l/_kGJqPCxYNxzo
https://dl.doubtnut.com/l/_mg9ALKq6ygl0
https://dl.doubtnut.com/l/_ye2bqNW1N6Tu


24. Find the symmetric difference between the following sets. 

X = {5, 6, 7} and Y = {5, 7, 9, 10}

Watch Video Solution

25. The shaded region in the adjoining diagram represents.

Watch Video Solution

26. Using the set symbols, write down the expressions for the shaded

region in the following 

https://dl.doubtnut.com/l/_CY439YOxATfX
https://dl.doubtnut.com/l/_2vdOTNnAZmBs
https://dl.doubtnut.com/l/_v3pNgDi0i7ts


Watch Video Solution

27. The shaded region in the adjoining diagram represents.

Watch Video Solution

28. Let A and B be two overlapping sets and the universal set U. Draw

appropriate Venn diagram for each of the following, 

(i)  


(ii)  


(iii)  


(iv) (B - A)' 

(v)  


(vi)  


(vii) What do you observe from the diagram (iii) and (v)?

Watch Video Solution

A ∪ B

A ∩ B

(A ∩ B)'

A' ∪ B'

A' ∩ B'

https://dl.doubtnut.com/l/_v3pNgDi0i7ts
https://dl.doubtnut.com/l/_W9gJZ2PKDE1D
https://dl.doubtnut.com/l/_ErBiH77yFtSK
https://dl.doubtnut.com/l/_JE8ftnSwObeh


29. Find the union of the following sets. 

A = {1, 2, 3, 5, 6} and B = {4, 5, 6, 7, 8}

Watch Video Solution

30. Find the union of the following sets. 

X = {3, 4, 5) and Y = Ø

Watch Video Solution

31. Find  if 


A = {10, 11, 12, 13}, B = {12, 13, 14, 15}

Watch Video Solution

A ∩ B

32. Find  if 


A = {5, 9, 11}, B = Ø.

Watch Video Solution

A ∩ B

https://dl.doubtnut.com/l/_JE8ftnSwObeh
https://dl.doubtnut.com/l/_6ZTrmqIuBR60
https://dl.doubtnut.com/l/_JQePKzeYRwHU
https://dl.doubtnut.com/l/_APGQbSvo5n6j


33. Given the sets A = {4, 5, 6, 7} and B = {1, 3, 8, 9}, find .

Watch Video Solution

A ∩ B

34. If A = {-2, -1, 0, 3, 4}, B = {-1, 3, 5}, find 

A - B.

Watch Video Solution

35. If A = {-2, -1, 0, 3, 4}, B = {-1, 3, 5}, find 

B - A.

Watch Video Solution

36. If A = {2, 3, 5, 7, 11} and B = {5, 7, 9, 11, 13}, find .

Watch Video Solution

AΔB

https://dl.doubtnut.com/l/_APGQbSvo5n6j
https://dl.doubtnut.com/l/_bag4GNxyt0Fq
https://dl.doubtnut.com/l/_U47RlthdI75c
https://dl.doubtnut.com/l/_WXpK4x9y1DI1
https://dl.doubtnut.com/l/_kaJG8vHjxGAb


37. Draw a venn diagram similar to one at the side and shade the regions

resresenting the following sets 

A'

Watch Video Solution

38. Draw a venn diagram similar to one at the side and shade the regions

resresenting the following sets 

B'

Watch Video Solution

39. Draw a venn diagram similar to one at the side and shade the regions

resresenting the following sets 

Watch Video Solution

A' ∪ B'

https://dl.doubtnut.com/l/_kaJG8vHjxGAb
https://dl.doubtnut.com/l/_ZBMWOcwQTks3
https://dl.doubtnut.com/l/_8pmemUMspZFm
https://dl.doubtnut.com/l/_VXuKqwe1OTKL


40. Draw a venn diagram similar to one at the side and shade the regions

resresenting the following sets 

Watch Video Solution

(A ∪ B)'

41. Draw a venn diagram similar to one at the side and shade the regions

resresenting the following sets 

Watch Video Solution

A' ∩ B'

42. State which of the following sets are disjoint. 

A = {2, 4, 6, 8}, B = {x : x is an even number }

Watch Video Solution

< 10, x ∈ N

https://dl.doubtnut.com/l/_vgOxvkSL4U3C
https://dl.doubtnut.com/l/_lDQmT8CfeoPa
https://dl.doubtnut.com/l/_baqwNVc8G3ju


Exercise 1 4

43. State which of the following sets are disjoint. 

X = {1, 3, 5, 7, 9}, Y = {0, 2, 4, 6, 8, 10}

Watch Video Solution

44. State which of the following sets are disjoint. 

R = {a, b, c, d, e}, S = {d, e, b, c, a}

Watch Video Solution

45. If A = {a, b, c, d, e} and B = {a, e, i, o, u} find AB.

Watch Video Solution

https://dl.doubtnut.com/l/_8SfZNHOHuO5a
https://dl.doubtnut.com/l/_7gQ20AXMZYlk
https://dl.doubtnut.com/l/_6afPMllOONcn


1. If P = {1, 2, 5, 7, 9}, Q = {2, 3, 5, 9, 11}, R = {3, 4, 5, 7, 9} and S = {2, 3, 4, 5, 8},

then find 

Watch Video Solution

(P ∪ Q) ∪ R

2. If P = {1, 2, 5, 7, 9}, Q = {2, 3, 5, 9, 11}, R = {3, 4, 5, 7, 9} and S = {2, 3, 4, 5, 8},

then find 

Watch Video Solution

(P ∩ Q) ∩ S

3. If P = {1, 2, 5, 7, 9}, Q = {2, 3, 5, 9, 11}, R = {3, 4, 5, 7, 9} and S = {2, 3, 4, 5, 8},

then find 

Watch Video Solution

(Q ∩ S) ∩ R

https://dl.doubtnut.com/l/_o7xxAiZ5qRFu
https://dl.doubtnut.com/l/_KQCV5ivng9KI
https://dl.doubtnut.com/l/_zUM15naL9bIx
https://dl.doubtnut.com/l/_mP9u3oXfKBQi


4. Test for the commutative property of union and intersection of the

sets 

P = {x : x is a real number between 2 and 7} and 

Q = {x : x is an irrational number between 2 and 7}

Watch Video Solution

5. If A = {p, q, r, s}, B = {m, n, q, s, t} and C = {m, n, p, q, s}, then verify the

associative property of union of sets.

Watch Video Solution

6. Verify the associative property of intersection of sets for

.

Watch Video Solution

A = { − 11, √2, √5, 7}, B = {√3, √5, 6, 13} and C = {√2, √3, √5, 9}

https://dl.doubtnut.com/l/_mP9u3oXfKBQi
https://dl.doubtnut.com/l/_3OXxF37CtGtT
https://dl.doubtnut.com/l/_Kzzz8pS3HrvA


7. If

and C = {0, 1, 2, 5, 6}, then verify the associative property of intersection of

sets.

Watch Video Solution

A = {x : x = 2n, n ∈ W and n < 4}, B = {x : x = 2n, n ∈ N and ≤ 4}

8. If A and B are two sets containing 13 and 16 elements respectively, then

find the minimum and maximum number of elements in ?

Watch Video Solution

A ∪ B

9. If

.

Watch Video Solution

n(U) = 38, n(A) = 16, n(A ∩ B) = 12, n(B' ) = 20, find n(A ∪ B)

https://dl.doubtnut.com/l/_rzTyWLAwLwZ3
https://dl.doubtnut.com/l/_5QFqK9Tx7AIy
https://dl.doubtnut.com/l/_SzUIgsKuJTiq


Exercise 1 5

10. Let A = {b, d, e, g, h} and B = {a, e, c, h} verify that

Watch Video Solution

n(A − B) = n(A) − n(A ∩ B)

11. If A = {2, 5, 6, 7} and B = {3, 5, 7, 8}, then verify the commutative property

of 

(i) union of sets 

(ii) intersection of sets

Watch Video Solution

12. If A = {b, c, d, e} and B = {b, c, e, g} and C = {a, c, e}, then verify 

.

Watch Video Solution

A ∪ (B ∪ C) = (A ∪ B) ∪ C

https://dl.doubtnut.com/l/_bQqNVe68GLtO
https://dl.doubtnut.com/l/_3ajWYhOTd7OP
https://dl.doubtnut.com/l/_JQyh2ZCjRnwP


1. Using the adjacent venn diagram, find the following sets : 

 


(i) A - B 

(ii) B - C 

(iii)  


(iv)  


(v)  


(vi)  


(vii) 

Watch Video Solution

A' ∪ B'

A' ∩ B'

(B ∪ C)'

A − (B ∪ C)

A − (B ∩ C)

https://dl.doubtnut.com/l/_F8PTDHh6yAPa


2. If K = {a, b, d, e, f}, L = {b, c, d, g} and M = (a, b, c, d, h} then find the

following: 

 and verify distributive laws.

Watch Video Solution

K ∪ (L ∩ M)

3. If K = {a, b, d, e, f}, L = {b, c, d, g} and M = (a, b, c, d, h} then find the

following: 

 and verify distributive laws.

Watch Video Solution

K ∩ (L ∪ M)

4. If K = {a, b, d, e, f}, L = {b, c, d, g} and M = (a, b, c, d, h} then find the

following: 

 and verify distributive laws.

Watch Video Solution

(K ∪ L) ∩ (K ∪ M)

https://dl.doubtnut.com/l/_F8PTDHh6yAPa
https://dl.doubtnut.com/l/_8TVexrOwFevM
https://dl.doubtnut.com/l/_TQPhUN7NVrzX
https://dl.doubtnut.com/l/_VtGykg4htRAQ
https://dl.doubtnut.com/l/_2KVKlbUshso9


5. If K = {a, b, d, e, f}, L = {b, c, d, g} and M = (a, b, c, d, h} then find the

following: 

 and verify distributive laws.

Watch Video Solution

(K ∩ L) ∪ (K ∩ M)

6. If , C = {-4, -1,

0, 2, 3, 4}, then verify .

Watch Video Solution

A = {x : x ∈ Z, − 2 < x ≤ 4}, B = {x : x ∈ W , x ≤ 5}

A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C)

7. Verify  using Venn diagrams.

Watch Video Solution

A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C)

8. If A = {b, c, e, g, h}, B = {a, c, d, g, i} and C = {a, d, e, g, h}, then show that

.A − (B ∩ C) = (A − B) ∪ (A − C)

https://dl.doubtnut.com/l/_2KVKlbUshso9
https://dl.doubtnut.com/l/_Xa5CeXeOn9GI
https://dl.doubtnut.com/l/_F09xEJu109hY
https://dl.doubtnut.com/l/_D5eo1UaHAS1B


Watch Video Solution

9. If

, then show that 

Watch Video Solution

A = {x : x = 6n, n ∈ W and n < 6}, B = {x : x = 2n, n ∈ N and 2 < n

A − (B ∩ C) = (A − B) ∪ (A − C)

10. If A = {-2, 0, 1, 3, 5}, B = {-1, 0, 2, 5, 6} and C = {-1, 2, 5, 6, 7}, then show that

.

Watch Video Solution

A − (B ∪ C) = (A − B) ∩ (A − C)

11. If

, then show that .

Watch Video Solution

A = {y : y = , a ∈ W and a ≤ 5}, B = {y : y = , n ∈ W a
a + 1

2

2n − 1

2

A − (B ∪ C) = (A − B) ∩ (A − C)

https://dl.doubtnut.com/l/_D5eo1UaHAS1B
https://dl.doubtnut.com/l/_C0IAyOAmmuuc
https://dl.doubtnut.com/l/_Vid9Xua63KQ6
https://dl.doubtnut.com/l/_X32TkJ8dEKVh


12. Verify  using Venn diagrams.

Watch Video Solution

A − (B ∩ C) = (A − B) ∪ (A − C)

13. If U = {4, 7, 8, 10, 11, 12, 15, 16}, A = {7, 8, 11, 12} and B = {4, 8, 12, 15}, then

verify De Morgan's Laws for complementation.

Watch Video Solution

14. Verify  using Venn diagrams.

Watch Video Solution

(A ∩ B)' = A' ∪ B'

15. If A = {1, 3, 5, 7, 9}, B = {x : x is a composite number and } and C = 

 then verify 

.

Watch Video Solution

x < 12

{x : x ∈ N and 6 < x < 10}

A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C)

https://dl.doubtnut.com/l/_WL0pKoF49IwP
https://dl.doubtnut.com/l/_QY6v2UUAJeYW
https://dl.doubtnut.com/l/_5MH7KMZIuTDb
https://dl.doubtnut.com/l/_pyhyC1oNkeHG


16. If A, B and C are overlapping sets, draw venn diagram for : 

Watch Video Solution

A ∩ B

17. Draw Venn diagram for 

Watch Video Solution

A ∩ B ∩ C

18. If P =

 and

R = {4, 6, 8, 9, 10, 12}, then verify .

Watch Video Solution

{x : x ∈ N and 1 < x < 11}, Q = {x : x = 2n, n ∈ N and n < 6}

P − (Q ∩ R) = (P − Q) ∪ (P − R)

19. If

U = {x : x ∈ Z, − 3 ≤ x ≤ 9}, A = {x : x = 2P + 1, P ∈ Z, − 2 ≤ P ≤

https://dl.doubtnut.com/l/_pyhyC1oNkeHG
https://dl.doubtnut.com/l/_qVo9lMRuRL1x
https://dl.doubtnut.com/l/_Ifxg8AuwZoKq
https://dl.doubtnut.com/l/_MFkabqINnfeA
https://dl.doubtnut.com/l/_J4RuJflhkstx


Exercise 1 6

, verify De Morgan's laws for complementation.

Watch Video Solution

1. If n(A) = 25, n(B) = 40,  and n(B') = 25, find  and

n(U).

Watch Video Solution

n(A ∪ B) = 50 n(A ∩ B)

2. If n(A) = 300,  and n(B') = 350, find

n(B) and n(U).

Watch Video Solution

n(A ∪ B) = 500, n(A ∩ B) = 50

3. If , A = {2, 3, 4, 8, 10} and B = {1, 2, 5, 8, 10}, then

verify that 

U = {x : x ∈ N, x ≤ 10}

n(A ∪ B) = n(A) + n(B) − n(A ∩ B)

https://dl.doubtnut.com/l/_J4RuJflhkstx
https://dl.doubtnut.com/l/_LdRFLqdeNFcW
https://dl.doubtnut.com/l/_yZoNLi45dfQg
https://dl.doubtnut.com/l/_KvoD3Vw2TcI2


Watch Video Solution

4. Verify

for the following sets. 

(i) A{a, c, e, f, h}, B = {c, d, e, f} and C = {a, b, c, f} 

(ii) A = {1, 3, 5} B = {2, 3, 5, 6} and C = {1, 5, 6, 7}.

Watch Video Solution

n(A ∪ B ∪ C) = n(A) + n(B) + n(C) − n(A ∩ B) − n(B ∩ C) − n(A ∩

5. In a class, all students take part in either music or drama or both. 25

students take part in music, 30 students take part in drama and 8

students take part in both music and drama. Find 

(i) The number of students who take part in only music. 

(ii) The number of students who take part in only drama. 

(iii) The total number of students in the class.

Watch Video Solution

https://dl.doubtnut.com/l/_KvoD3Vw2TcI2
https://dl.doubtnut.com/l/_FCJbU8p1z4sR
https://dl.doubtnut.com/l/_VGF6n9mJ2mLp


6. In a party of 45 people, each one likes tea or coffee or both. 35 people

like tea and 20 people like coffee. Find the number of people who 

(i) like both tea and coffee. 

(ii) do not like tea. 

(iii) do not like coffee.

Watch Video Solution

7. In an examination 50% of the students passed in Mathematics and 70%

of students passed in Science while 10% students failed in both subjects.

300 students passed in atleast one subjects. Find the total number of

students who appeared in the examination, if they took examination in

only two subjects.

Watch Video Solution

8. A and B are two sets such that n(A - B) = 32 + x, n(B - A) = 5x and

. Illustrate the information by means of a venn diagram.n(A ∩ B) = x

https://dl.doubtnut.com/l/_BQHhPEoAxIWz
https://dl.doubtnut.com/l/_GwVJ7EzCRO5m
https://dl.doubtnut.com/l/_nJIPXUc9mpy5


Given that n(A) = n(B), calculate the value of x. 

Watch Video Solution

9. Out of 500 car owners investigated, 400 owned car A and 200 owned

car B, 50 owned both A and B cars. Is this data correct?

Watch Video Solution

10. In a colony, 275 families buy Tamil newspaper, 150 families buy English

newspaper, 45 families buy Hindi newspaper, 125 families buy Tamil and

English newspapers, 17 families buy English and Hindi newspapers, 5

https://dl.doubtnut.com/l/_nJIPXUc9mpy5
https://dl.doubtnut.com/l/_2QokvQBU7k2A
https://dl.doubtnut.com/l/_OibK80ZIWyUe


families buy Tamil and Hindi newspapers and 3 families buy all the three

newspapers. If each family buy atleast one of these newspapers then find 

(i) Number of families buy only one newspaper 

(ii) Number of families buy atleast two newspapers 

(iii) Total number of families in the colony.

Watch Video Solution

11. A survey of 1000 farmers found that 600 grew paddy, 350 grew ragi,

280 grew corn, 120 grew paddy and ragi, 100 grew ragi and corn, 80 grew

paddy and corn. If each farmer grew atleast any one of the above three,

then find the number of farmers who grew all the three.

Watch Video Solution

12. In the adjacent diagram, if n(U) = 125, y is two times of x and z is 10

more than x, then find the value of x, y and z. 

https://dl.doubtnut.com/l/_OibK80ZIWyUe
https://dl.doubtnut.com/l/_rNLM8XgBHfgm
https://dl.doubtnut.com/l/_bPqSkqW7JlxC


Watch Video Solution

13. Each student in a class of 35 plays atleast one game among chess,

carrom and table tennis. 22 play chess, 21 play carrom, 15 play table

tennis, 10 play chess and table tennis, 8 play carrom and table tennis and

6 play all the three games. Find the number of students who play (i) chess

and carrom but not table tennis (ii) only chess (iii) only carrom (Hint: Use

https://dl.doubtnut.com/l/_bPqSkqW7JlxC
https://dl.doubtnut.com/l/_hdsV67LYRO80


Venn diagram) 

Watch Video Solution

14. In a class of 50 students, each one come to school by bus or by bicycle

or on foot. 25 by bus, 20 by bicycle, 30 on foot and 10 students by all the

three. Now how many students come to school exactly by two modes of

transport?

https://dl.doubtnut.com/l/_hdsV67LYRO80
https://dl.doubtnut.com/l/_xaN7J3aZUK2P


Watch Video Solution

15. From the given venn diagram. Find (i) A, (ii) B, (iii) , (iv) 

also verify that  


Watch Video Solution

A ∪ B A ∩ B

n(A ∪ B) = n(A) + n(B) − n(A ∩ B)

16. If n(A) = 12, n(B) = 17 and .

Watch Video Solution

n(A ∪ B) = 21  find n(A ∩ B)

https://dl.doubtnut.com/l/_xaN7J3aZUK2P
https://dl.doubtnut.com/l/_9VjuN9dOo3Hj
https://dl.doubtnut.com/l/_HOfEpptyjbsZ


17. In a school, 80 students like Maths, 90 students like Science, 82

students like History, 21 like both Maths and Science, 19 like both Science

and History 20 like both Maths and History and 8 liked all the three

subjects. If each student like atleast one subject, then find (i) the number

of students in the school (ii) the number of students who like only one

subject.

Watch Video Solution

18. State the formula to find .

Watch Video Solution

n(A ∪ B ∪ C)

19. Verify

for the following sets A = {1, 3, 5, 6, 8}, B = {3, 4, 5, 6) and C = {1, 2, 3, 6}

Watch Video Solution

n(A ∪ B ∪ C) = n(A) + n(B) + n(C) − n(A ∩ B) − n(B ∩ C) − n(A ∩

https://dl.doubtnut.com/l/_ubCVDL3K9FC4
https://dl.doubtnut.com/l/_lTSIDafmlYAE
https://dl.doubtnut.com/l/_6Z60PwxpUeDb


Exercise 1 7

1. Which of the following is correct?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

{7} ∈ {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

7 ∈ {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

7 ∉ {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

{7} ⊆ {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

2. The set  is a

A. Singleton set

B. Power set

C. Null set

P = {x ∣ x ∈ Z, − 1 < x < 1}

https://dl.doubtnut.com/l/_OCLuGg84Offb
https://dl.doubtnut.com/l/_lTMLtzWiL8lf


D. Subset

Answer:

Watch Video Solution

3. If  then

(A')' is

A. {1,6,7,8,9}

B. {1,2,3,4}

C. {2,3,4,5}

D. { }

Answer:

Watch Video Solution

U = {x ∣ x ∈ N, x < 10} and A = {x ∣ x ∈ N, 2 ≤ x < 6}

https://dl.doubtnut.com/l/_lTMLtzWiL8lf
https://dl.doubtnut.com/l/_FlWcOLwDCiGn


4. If  then  is

A. n(A - B)

B. n(B)

C. n(B - A)

D. n(A)

Answer:

Watch Video Solution

B ⊆ A n(A ∩ B)

5. If A = {x,y,z} then the number of non-empty subsets of A is

A. 8

B. 5

C. 6

D. 7

https://dl.doubtnut.com/l/_dzdrJZP3oHXs
https://dl.doubtnut.com/l/_i1jjsuL6O4kg


Answer:

Watch Video Solution

6. Which of the following is a correct statement?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

Ø ⊆ {a, b}

Ø ∈ {a, b}

{a} ∈ {a, b}

a ⊆ {a, b}

7. If  then

A. 

A ∪ B = A ∩ B

A ≠ B

https://dl.doubtnut.com/l/_i1jjsuL6O4kg
https://dl.doubtnut.com/l/_w0KOLtW9qj2y
https://dl.doubtnut.com/l/_mzd7cUKJo3VH


B. A = B

C. 

D. 

Answer:

Watch Video Solution

A ⊂ B

B ⊂ A

8. If B - A is B, then  is

A. A

B. B

C. U

D. Ø

Answer:

Watch Video Solution

A ∩ B

https://dl.doubtnut.com/l/_mzd7cUKJo3VH
https://dl.doubtnut.com/l/_RnJQaHBWwTOz
https://dl.doubtnut.com/l/_xVUiJ25sS3eb


9. From the adjacent diagram  is 


A. 8

B. 16

C. 32

D. 64

Answer:

Watch Video Solution

n[P (AΔB)]

https://dl.doubtnut.com/l/_xVUiJ25sS3eb


10. If  then the minimum and maximum

number of elements in  is

A. (10,15)

B. (15,10)

C. (10,0)

D. (0,10)

Answer:

Watch Video Solution

n(A) = 10 and n(B) = 15

A ∩ B

11. Let A = {Ø} and B = P(A) then  is

A. { Ø, {Ø} }

B. {Ø}

C. Ø

D. {0}

A ∩ B

https://dl.doubtnut.com/l/_z4VXBtolQd3D
https://dl.doubtnut.com/l/_aw2JdM8608r3


Answer:

Watch Video Solution

12. In a class of 50 boys, 35 boys play carom and 20 boys play chess then

the number of boys play both games is

A. 5

B. 30

C. 15

D. 10

Answer:

Watch Video Solution

13. If , A = {1, 2, 3, 5, 8} and B = {2, 5, 6, 7, 9},

then  is

U = {x : x ∈ N and x < 10}

n[(A ∪ B)' ]

https://dl.doubtnut.com/l/_aw2JdM8608r3
https://dl.doubtnut.com/l/_fSYxsQnmvHxT
https://dl.doubtnut.com/l/_2e6PfKSCH0ru


A. 1

B. 2

C. 4

D. 8

Answer:

Watch Video Solution

14. For any three sets P, Q and R,  is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

P − (Q ∩ R)

P − (Q ∪ R)

(P ∩ Q) − R

(P − Q) ∪ (P − R)

(P − Q) ∩ (P − R)

https://dl.doubtnut.com/l/_2e6PfKSCH0ru
https://dl.doubtnut.com/l/_etdPLkV0xPQD


15. Which of the following is true?

A. 

B. A - B = B - A

C. 

D. 

Answer:

Watch Video Solution

A − B = A ∩ B

(A ∪ B)' = A' ∪ B'

(A ∩ B)' = A' ∪ B'

16. If

and  then the value of x is .

A. 10

B. 15

n(A ∪ B ∪ C) = 100, n(A) = 4x, n(B) = 6x, n(C) = 5x, n(A ∩ B) = 20

n(A ∩ B ∩ C) = 10

https://dl.doubtnut.com/l/_etdPLkV0xPQD
https://dl.doubtnut.com/l/_MuxjSl5ovsX7
https://dl.doubtnut.com/l/_yRI0F4wQ65dP


C. 25

D. 30

Answer:

Watch Video Solution

17. For any three sets A, B and C,  is equal to

A. A only

B. B only

C. C only

D. 

Answer:

Watch Video Solution

(A − B) ∩ (B − C)

ϕ

https://dl.doubtnut.com/l/_yRI0F4wQ65dP
https://dl.doubtnut.com/l/_DJB9144UKJB9


18. If J = Set of three sided shapes, K = Set of shapes with two equal sides

and L = Set of shapes with right angle, then  is

A. Set of isoceles triangles

B. Set of equilateral triangles

C. Set of isoceles right triangles

D. Set of right angled triangles

Answer:

Watch Video Solution

J ∩ K ∩ L

19. The shaded region in the Venn diagram is

A. 

B. 

C. 

D. 

Z − (X ∪ Y )

(X ∪ Y ) ∩ Z

Z − (X ∩ Y )

Z ∪ (X ∩ Y )

https://dl.doubtnut.com/l/_cIQav5CANrrO
https://dl.doubtnut.com/l/_Uij0jJl6rw6d


Answer:

Watch Video Solution

20. In a city, 40% people like only one fruit, 35% people like only two

fruits, 20% people like all three fruits. How many percentage of people do

not like any one of the above three fruits?

A. 5

B. 8

C. 10

D. 15

Answer:

Watch Video Solution

21. If A = {5, {5, 6}, 7} which of the following is correct?

https://dl.doubtnut.com/l/_Uij0jJl6rw6d
https://dl.doubtnut.com/l/_rIWhwnZV90IX
https://dl.doubtnut.com/l/_yJ8kFo3kR9C8


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

{5, 6} ∈ A

{5} ∈ A

{7} ∈ A

{6} ∈ A

22. If X = {a, {b, c}, d}, which of the following is a subset of X?

A. {a, b}

B. {b, c}

C. {c, d}

D. {a, d}

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_yJ8kFo3kR9C8
https://dl.doubtnut.com/l/_JFY14V7yofKl


23. If a finite set A has m elements, then the number of non-empty proper

subset of A is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2m

2m − 1

2m− 1

2(2m− 1 − 1)

24. For any three A, B and C,  is

A. 

B. 

C. 

A − (B ∪ C)

(A − B) ∪ (A − C)

(A − B) ∩ (A ∪ C)

(A − B) ∪ C

https://dl.doubtnut.com/l/_JFY14V7yofKl
https://dl.doubtnut.com/l/_AcQijT9PJwTW
https://dl.doubtnut.com/l/_1SrviVi9JLRo


D. 

Answer:

Watch Video Solution

A ∪ (B − C)

25. Which of the following is true?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(A ∪ B) = B ∪ A

(A ∪ B)' = A' − B'

(A ∩ B)' = A' ∩ B'

A − (B ∩ C) = (A − B) ∩ (A − C)

https://dl.doubtnut.com/l/_1SrviVi9JLRo
https://dl.doubtnut.com/l/_Xyl6GiDuV0y7


Text Book Activities

26. The shaded region in the venn diagram is 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

A ∪ B

A ∩ B

(A ∩ B)'

(A − B) ∪ (B − A)

1. Discuss and give as many examples of collections from your daily life

situations, which are sets and which are not sets.

Watch Video Solution

https://dl.doubtnut.com/l/_TpybWzzRpKOu
https://dl.doubtnut.com/l/_806p3G1cX3if


Unit Test

2. Write the following sets in respective forms.

Watch Video Solution

1. The set  is a

A. Singleton set

B. Power set

C. Null set

D. Subset

Answer:

Watch Video Solution

P = {x ∣ x ∈ Z, − 1 < x < 1}

https://dl.doubtnut.com/l/_gRATPyxl3AQN
https://dl.doubtnut.com/l/_TQIawYBO7pI0


2. Which of the following is correct?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

{7} ∈ {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

7 ∈ {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

7 ∉ {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

{7} ∉ {1, 2, 3, 4, 5, 6, 7, 8, 9, 10}

3. Which of the following is a correct statement?

A. 

B. 

C. 

D. 

Ø( ⊆ ){a, b}

Ø ∈ {a, b}

{a} ∈ {a, b}

a ⊆ {a, b}

https://dl.doubtnut.com/l/_JGOgDL64FJtl
https://dl.doubtnut.com/l/_DoV3m6XgK7p5


Answer:

Watch Video Solution

4. For any three sets A, B and C,  is equal to

A. A only

B. B only

C. C only

D. 

Answer:

Watch Video Solution

(A − B) ∩ (B − C)

ϕ

5. Represent the following sets in set builder form. 

B = The set of all Cricket players in India who scored double centuries in

One Day Internationals.

https://dl.doubtnut.com/l/_DoV3m6XgK7p5
https://dl.doubtnut.com/l/_iz4pHPhvseTl
https://dl.doubtnut.com/l/_WujVGnUhwoQI


Watch Video Solution

6. Which of the following sets are equivalent or unequal or equal sets? 

A = The set of vowels in the English alphabets. 

B = The set of all leters in the word "VOWEL"

Watch Video Solution

7. Which of the following sets are equivalent or unequal or equal sets? 

C = {2, 3, 4, 5} 

D = 

Watch Video Solution

{x : x ∈ W , 1 < x < 5}

8. Write down the power set of the following sets. 

A = {a,b}

Watch Video Solution

https://dl.doubtnut.com/l/_WujVGnUhwoQI
https://dl.doubtnut.com/l/_Kba9iC6uSXvs
https://dl.doubtnut.com/l/_7OlSF4HRJWn1
https://dl.doubtnut.com/l/_QJHZmYz0uYqg


9. Write down the power set of the following sets. 

B = {1,2,3}

Watch Video Solution

10. If , A = {2, 3, 4, 8, 10} and B = {1, 2, 5, 8, 10}, then

verify that 

Watch Video Solution

U = {x : x ∈ N, x ≤ 10}

n(A ∪ B) = n(A) + n(B) − n(A ∩ B)

11. Write the following sets in Roster form. 

C = {x : x is a prime number and a divisor of 6 }

Watch Video Solution

12. Write the following sets in Roster form. 

x = {x : x = 2n, n ∈ N and n ≤ 5}

https://dl.doubtnut.com/l/_EBM56Y4MeRqb
https://dl.doubtnut.com/l/_oNZaBAKhLLwz
https://dl.doubtnut.com/l/_fwniHL9uqORd
https://dl.doubtnut.com/l/_IaZiLnloYIoi


Watch Video Solution

13. Which of the following sets are equivalent? 

A = {2, 4, 6, 8, 10}, B = {1, 3, 5, 7, 9}

Watch Video Solution

14. Which of the following sets are equivalent? 

, Y = {x : x is a vowel in the English Alphabet}

Watch Video Solution

X = {x : x ∈ N, 1 < x < 6}

15. If A = {-2, -1, 0, 3, 4}, B = {-1, 3, 5}, find 

A - B.

Watch Video Solution

https://dl.doubtnut.com/l/_IaZiLnloYIoi
https://dl.doubtnut.com/l/_OWsV5iZszBUN
https://dl.doubtnut.com/l/_X3rdRXCaWTp9
https://dl.doubtnut.com/l/_3oLagbIJpcz1


16. If A = {-2, -1, 0, 3, 4}, B = {-1, 3, 5}, find 

B - A.

Watch Video Solution

17. Using the given venn diagram, write the elements of 

 


(i) A 

(ii) B 

(iii)  


(iv)  


(v) A - B 

(vi) B - A 

A ∪ B

A ∩ B

https://dl.doubtnut.com/l/_dFnuUsO066MM
https://dl.doubtnut.com/l/_pEh4tjf1LLgY


(vii) A' 

(viii) B' 

(ix) U

Watch Video Solution

18. Let A and B be two overlapping sets and the universal set U. Draw

appropriate Venn diagram for each of the following, 

(i)  


(ii)  


(iii)  


(iv) (B - A)' 

(v)  


(vi)  


(vii) What do you observe from the diagram (iii) and (v)?

Watch Video Solution

A ∪ B

A ∩ B

(A ∩ B)'

A' ∪ B'

A' ∩ B'

https://dl.doubtnut.com/l/_pEh4tjf1LLgY
https://dl.doubtnut.com/l/_TmSMjkhjNV59


19. In an examination 50% of the students passed in Mathematics and

70% of students passed in Science while 10% students failed in both

subjects. 300 students passed in atleast one subjects. Find the total

number of students who appeared in the examination, if they took

examination in only two subjects.

Watch Video Solution

20. If n(A) = 25, n(B) = 40,  and n(B') = 25, find 

and n(U).

Watch Video Solution

n(A ∪ B) = 50 n(A ∩ B)

https://dl.doubtnut.com/l/_KkmL1hog6f0N
https://dl.doubtnut.com/l/_14xCDgKAg6uN

